DIVERSIFIED TEXTILE MACHINERY ™

133 Kings Road. PO Box 809. Kings Mountain, NC 28086.Phone: 704-739-2121.
Fax: 704-739-2161 E-mail: sales@diversfiedtextilemach.com

DTM D-147 x 54 MAIN ASSEMBLY




DIVERSIFIED TEXTILE MACHINERY

133 Kings Road. PO Box 809. Kings Mountain, NC 28086.Phone: 704-739-2121.

DTM

Fax: 704-739-2161 E-malil: sales@diversifiedtextilemach.com

D-147 x 54 MAIN ASSEMBLY

[Description [DT™ # | Drawing# | FCC#
Air Valve Assembly SDT540202 25-1 50000202
Neoprene Blade FDT540211 25-2 50000211
Shaft PDT540208 25-3 50000208
Paddle ODT540199 25-4 50000199
Cover FDT540205 25-5 50000205
Flat Doffer Assembly SDT540183 25-6 52000183
Shaft PDT540120 25-7 50000120
Doffer Paddle PDT540100 25-8 52000100
Doffer Cover Perforated PDT540106 25-9 52000106
Brush PDT540276 25-11

1/4-20 x 1-3/4 BHSC PDT54 25-13

1/4-20 Locknut PDT54 25-14

#6 drive screw PDT54 25-15

3/8-16 set screw PDT54 25-16

3/8 x 2 Key PDT54 25-17

Bearing PDT540039 25-18 P16000039
3/8-16 x 1-1/2 HH PDT54 25-19

3/8 FW PDT54 25-20

[Description [IDTM # | Drawing# | FCC# |
3/8 LW PDT54 25-21
3/8-16 Hex nut PDT54 25-22
Plexiglas Cover PHD100063 25-23 50000175
Spring Fastener PHD100074 25-24 35000042
Hanging Bracket PHD100064 25-25 50000224
3/8-16 Lock nut PDT54 25-26
3/8-16 x 3/4 SHBC PDT54 25-27
Bushing PHD100073 25-28
Drive Sheave PHD100065 25-29
Bushing PWF360209 25-30
Set screw PDT54 25-31
Motor (Voltage?) PDT54 25-32
Motor Sheave PHD100070 25-33
Bushing PDT540070 25-34
3/8-16 x 1-3/4 PDT54 25-35
Spring Fastener PHD100074 25-36
Drive Belt PDT540063 25-37
Drive Guard PDT540191 25-38 52000191
Guard Cover PDT540192 25-39 52000192
Motor Guard PDT540193 25-40 52000193
3/8-16 x 5/8 PDT54 25-41




